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LIFE SCIENCE 

LSE-06 : DEVELOPMENTAL BIOLOGY 

Time : 2 hours 	 Maximum Marks : 50 

Note : Answer Part I and Part II in separate answer 
copies. Answer the questions as per instructions in 
each part. Draw labelled diagrams, wherever 
necessary. 

PART I 

Plant Developmental Biology 

Note : Question no. 1 is compulsory. Attempt any four 
questions from question nos. 2 to 7. Give figures 
wherever necessary. 

1. (a) Choose the correct term / example given in 
the brackets : 	 2 

(i) (Reaction/Secondary) wood is the 
increased xylem produced on the upper 
or lower side of a branch. 

(ii) (Citrus I Arachis) is commonly cited as 
an example of natural polyembryony. 
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(iii) Many finger-like wall projections arise 
at the micropylar end of the 
(egg/synergid) cell. 

(iv) (Megasporangium/Nucellus) is 
considered to be the forerunner of the 
seed. 

(b) Fill in the blanks : 	 2 

(i) The endosperm development does not 
occur in the angiosperm family 

(ii) 	 abolish dwarfism in plants 
and promote stem elongation. 

(iii) Storied arrangement of fusiform cells 
in vascular cambium can be viewed in 
a 	section. 

(iv) The source of commercial cork is 

(c) Write the technical terms for the following 
statements : 

(i) Pollination involving two flowers on 
different plants. 

(ii) An indehiscent, achene-like fruit with 
the pericarp and the testa of a single 
seed becoming fused. 

2. Where do the lenticels occur ? Briefly describe 
the development and structure of a lenticel. 1+2+2=5 

3. Define apomixis. Briefly discuss the causes and 
the significance of this phenomenon. 	1+2+2=5 
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4. Write short notes on any two of the 

following : 	 2 
i 
— x 2=5 
2 

(a) Monosporic embryo-sac 

(b) Monocotyledonous embryo 

(c) Formation of annual rings in wood 

(d) Production of disease-free plants 

5. Briefly discuss the development, variants and 
functions of endosperm. 	 2+2+1=5 

6. Discuss the role of light and phytochrome during 
floral induction. 	 5 

7. (a) Briefly describe the chronology of events of 
pollen germination on stigma and style. 	2 

(b) Discuss the physiological effects of 
naturally-occurring auxin(s) in plants. 	3 
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PART II 

Animal Developmental Biology 

Note : Question no. 8 is compulsory. Attempt any 
four questions from question nos. 9 to 14. Give 
figures wherever necessary. 

8. (a) Fill in the blanks with appropriate words : 

—
1 

x 6=3 
2 

(i) In adult mammals, formation of blood 
cells takes place in 	 

(ii) In Hydra, the type of regeneration is 

(iii) The blastula of Amphioxus is called as 

(iv) Sex determination of a human foetus 
can be done at the end of 	 
month. 

(v) Excretory system is derived from the 
germ layer 	 

(vi) The slow block to polyspermy is 
achieved by the 	reaction of 
the egg. 
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(b) Distinguish between the following : 	1x2.2 

(i) Morula and Blastula 

(ii) Anaplasia and Metaplasia 

9. (a) Diagrammatically show the stages of 

oogenesis. 	 3 

(b) List the different types of eggs on the basis 

of amount of yolk. 	 2 

10. Discuss the formation of primitive streak during 

the development of chick embryo. 	 5 

11. (a) List the four modes of cell movements 

during development. 	 2 

(b) Describe the origin and migration of 

primordial germ cells (PGCs) in amniotes 

(birds and reptiles) 
	

3 

12. (a) Define the term totipotency. 

(b) Explain the types and significance of 

secondary induction. 	 4 

13. Describe the morphological changes during 

anuran metamorphosis. 	 5 
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14. (a) How does the exchange of different 
substances take place between the 
embryonic and maternal blood in humans ? 	3 

(b) Describe the function of chalones. 	 2 
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